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Namaste. If you remember in the last session, we had started our discussion on the
concept of conservatism. Can somebody tell what is conservatism very briefly? By
conservatism what we mean is, any possible loss we need to provide for; possible I am
saying not certain even if there is a chance of a loss, we should provide. But if there is a
possible game, but it is not certain then we will not account for it. So, accountants follow
a very prudent path or a conservative path and normally assign a lower value when two

values are available. We had seen two examples of this.
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Example

Closing stock is valued at
Cost or market price
whichever is lower

Depreciation is charged every
year even though cost of the
asset has not decreased.
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One is because of the application of the concept of conservatism; the closing stock is to
be valued at cost or market value whichever is lower. The second one was depreciation is

required to be provided every year.

Now, most of you would have read your annual report. Just look at the financial
statements. After the financial statement, in the note number 1 company would have
given important accounting policies. Please go through those accounting policies.

Several of those accounting policies are based on the concept of conservatism. Please try



to identify them. We have just given two examples of valuation of stock and

depreciation, but some more examples you can find if you read carefully ok.

So, let us go ahead with today's session. Then in the last session, we had started

discussion on depreciation. First of all how do you define depreciation?

See depreciation is a loss in value as the name suggest, but it is a continuous and gradual
loss in value of fixed assets. In case of other assets like inventory or like investment,
values can go up and down. But for fixed asset from the date of purchase, till the date it
is scrapped out the value of asset continuously falls and that fall is what is known as
depreciation. So, it is a gradual and continuous fall in the value of asset mainly because
of four reasons. Do you remember those four reasons? | think most of you are

remembering.
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CAUSES OF DEPRECIATION

Lapse of time
Wear and tear

Obsolescence of technology
Exhaustion
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So, lapse of time, wear and tear, obsolescence and exhaustion. Particularly the first three
are important for most of the assets and exhaustion; the fourth one is for which asset? It
is only for assets like a mine ok. Now, we went into the discussion on the methods of
depreciation. Now to calculate any depreciation, we need three important estimates. First
one is mostly actual that is a cost of asset, then estimate of the useful life and the

estimate of the scrap value.
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1. Cost of asset including expenses
for installation etc.

2. Estimated useful life of the asset.
3. Estimated scrap value (if any) at

the time of useful life of the asset.

Based on these three we try to calculate annual depreciation for each and every tangible
and intangible asset. Now, to calculate them, there are four methods there are several

methods, but four methods we are going to discuss in these this.
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METHODS OF PROVIDING
DEPRECIATION

Straight Line method (SLM)
Reducing Balance Method RBM

Machine Hour Method
Production Units Method
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The first two are very important; the straight line and reducing balance. Last time we had

discussed straight line. Do you remember what is straight line method?.

I will just give you a very simple example. Suppose we have purchased one asset say,

machinery for 1 lakh. It is useful life is 4 years, scrap value is let us say 10000. What



will be the depreciation every year? 1 lakh minus 10000; that means, 90000 is to be
distributed over a period of 4 years. So, we will simply divide 90 by 4. So, 90000 upon 4
IS a depreciation per annum. Getting it? So, it will be 22500 and this is known as straight
line method. You can see the formula ok; cost of asset minus scrap value upon useful
life.
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SLM: The underlying assumption
of this method is that the
particular asset generates equal
utility during its lifetime.

Cost of Asset-Scrap

Depreciation= | Value
Useful Life
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Now, what will happens due to this is the depreciation remains constant throughout the
useful life. The second method is known as reducing balance method. Now in reducing
balance method what happens is instead of annual depreciation which is fixed, we
calculate a we arrived at a depreciation rate. So, suppose the same machine; let us say is
having a value of 1 lakh in the beginning. And, suppose the rate of depreciation is taken
as 25 percent, then in year 1; it will be 1 lakh into 25percent that is 25000. In year 2, we
will not apply 25000 on 1 lakh. We will take 1 lakh minus the first year’s depreciation
that is 25000. So, 75000; the 75000 is known as written down value.

See acquisition cost minus depreciation. Now on 75000, 75000 into 25 percent is a
second years depreciation; in third year it is 75 minus the second years depreciation that
is 22500 and so, we will get a further reduced value, on that we will charge the same rate
that is 25 percent. So, effectively the amount of depreciation will go on reducing every

year that is why it is known as reducing balance method.



(Refer Slide Time: 06:32)

REDUCING BALANCE
METHOD

Written Down Value (WDV)
n

)

(Acquisition Cost - Depreciatio
Depreciation= WDV*Depr Rate
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Last time we had stopped our discussion with the comparison of the two methods;
straight line and reducing. Now, between the two methods, which method is better in
your opinion? | think those who like simplicity, we will say that straight line is simple.
So, it is good. There are some advantages of straight line, but there are a lot of
advantages with reducing balance Now in reducing balance, what happens is the value of
depreciation falls over a period of its useful life. In the earlier year, the depreciation is

higher; in the later year, the depreciation is lesser.
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RBM: The main advantage of this
method is that total charge to total
revenue is uniform when the
depreciation is high, repairs are

negligible and as the repairs
increases  the  burden  of
depreciation gets lesser and lesser.
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Now, this is a very good thing because every year the cost of repair is likely to increase
because the machine is becoming older. So, it is good to charge more depreciation in the
initial years and lesser depreciation in the later years. Because initial years repair will be
less, but depreciation is high; later year let us skip depreciation less. So, that repair more
of repair can be born that is one approach, that is also another advantage is reducing
balance. Because in the initial year there is significant loss in the value that gets better
reflected in the balance sheet; if we charge more depreciation in the earlier years which
happens in reducing balance.

That is why income tax act allows only one method that is reducing balance method in

companies act both the methods are allowed; straight line as well as reducing balance.

If you are reading the balance sheet of your company which you have chosen, please
read their depreciation schedule. In the depreciation schedule, then we have mention the
method as well as the rate at which they are charging depreciation. | hope you getting it.

Now let us go.
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RBM:

For First Year .

Depreciation=Acquisition
value* Rate

For Second Year on words

Depreciation=Written down
value* Rate
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So, this is a formula once again you can have a look at it. Last time we had done these

calculations.
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MACHINE HOUR METHOD

Where it is possible to keep a
record of the actual running

hours of each  machine
depreciation may be calculated
on the basis of hours worked.
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Now, let us go to the third method that is known as machine hour method. Now what
happens is in case of certain machines, the life depends on how many hours you use the

machine.
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The machine hour rate of
depreciation is calculated
after estimating the total
numbers of hours that

machine would work during
its whole life.

So, the depreciation is also calculated as per the likely life which is calculated in terms of

its working hours.
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Example

Cost of machine: 500000
Estimated working hours: 40000
Scrap Value: 10000

The pattern of distribution of effective
working hours:
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So, this is an example. If the cost of machine is 5 lakhs and estimated working hours are
40000 scrap value is 10000.
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Year hours
1-2: 5000 per year
3-5: 7000 per year

6-8: 3000 per year
Compute depreciation p.a.
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Now, there given the pattern of effective working hours. Let us say in year 1-2, it is
5000; 3-5 it 7000 and 6-7, it is 3000. Now how do you compute depreciation? Now, what
we will do is we know the cost and we also know that the estimated working hours are
40000; scrap value is 10000; so, instead of charging straight line depreciation which will

be uniform or instead of charging depreciation at a certain rate. We will calculate it on



per hour basis and then based on the hours in that particular year, we will compute the

depreciation.
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Solution:

1-2

5000 X (500000-10000)
40000

=61250 p.a.
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For example, firstly, we will we know that the total depreciation total number of working
hours are 40000. Now the cost of machine is 5 lakhs minus 10000; that means, basically
we have to depreciate 490000 over its useful life. In year 1 and 2, it is a new machine yet
to settle. So, useful hours or useful hours are only 5000; so, 5000 upon 40000 into
490000. So, the cost is the depreciation is 61250 in year 1 and 2. Are you getting?
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Solution:
3-5

7000 X (500000-10000)
40000
=85750 p.a.
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Now, in year 3, 3 to 5; now the amount to be depreciated is same 5 lakh minus 10000
that is 490000. In year 3 to 5, the estimated number of hours are 7000. So, 7000 divided
by the total hour that is 40000. So, each year we are getting 85750 as depreciation from
year 3 to 5, fine.
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Solution:
6-8

3000 X (500000-10000)
40000
=36750 p.a.
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And for year 6 to 8, now the machine as rather become older. So, the useful hours per
year are only 3000; so, 3000 upon 40000 in to 5 lakh minus 10000 which is constant. So,
in year 6 to 8, the annual depreciation is only 36750. Are you getting?

So, here instead of reducing it over a period, we are going by its utilization. So, in a year
how many hours you use, accordingly the depreciation is charged. Are you getting? This
is known as machine hour method and fourth one which we are going to discuss is

production unit method.
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PRODUCTION UNIT METHOD

Under this method depreciation is
determined by comparing annual

production with the estimated total
production.

£ A-counting - Dr, Viaradra) Bapal, IIT Mumbal

Now, in production unit method, what we are doing is we are looking at the annual

production and the depreciation will be charged based on the production in that year.
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The amount of depreciation is computed
by the using following formula:

Depreciation for the period=

depreciable  Production during the period

amount X Estimated total production
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Now, this is the formula we use. So, what we do is, total depreciable amount will be
divided by the estimated total production. Out of the total production whatever is a
production units for that particular period that much portion will be depreciated in that

period.
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Example
Cost of machine: 30000
Estimated total production: 4000

Scrap Value: 2000
Pattern of distribution of production:
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Let us check this example. So, cost is 30000, estimated total production is 4000; it is in
terms of unit, the scrap value is 2000. So, basically you will see that 30 minus 2; that

means, 28000 is a depreciable amount which is mainly for the production of 4000.
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Year Units
1:2000

2 1560
31500
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Now, this 4000 is spread over three years in this manner. In year 1, estimated is 2000,
year 2, 1500 and year 3, 500. So, what we will do is the depreciation is for 4000 units,

we will spread it over as per the estimates of units.
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Solution:

Year 1

2000 X (30000-2000)
4000

=14000

So, in year 1, 30 minus 2 that is 28000 is to be basically depreciated and here we take
2000 divided by 4000; that means, for year 1, the depreciation is estimated to be 14000.
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Solution:
Year 2

1500 X (30000-2000)
4000

=10500

- A-counting - Dr, Varadraj Bapal, IIT Mumbai

In year 2, the formula is same it is 1500 upon 4000; that means, we are calculating it
based on 10000; we are calculating it to be 10500. Now can you do it year 3? Just have a

look once again.

So, 30 minus 2; that means, basically 28000 upon 4000 and in year 3, the estimated units
are just 500. So, you can do it orally also; 500 into 28000 divided by 4000.
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Solution:

Year 3

500 X (30000-2000)
4000

=3500
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Are you getting it? This is the calculation. So, you are getting 3500 per year. Are you
getting? There are some more methods, but they do not have much of practical utility.
The first two methods that is straight line and reducing balance are the most important
methods and almost all companies use any one of the two, particularly the second
method that is reducing balance is most important. Most of the companies using and as

per income tax act, it is mandatory to use reducing balance method.

The third and fourth method are not use normal in financial accounting, but they will be
useful for managerial or for cost accounting. That is why, | have covered it in this
particular session ok. So, with this our discussion on depreciation is over. | will once
again remind you to look at the depreciation schedule as per your own company and that
will give you some more inputs. So, with this now having discussed about depreciation,
let us have a look at how it appears in the annual report. | have been telling you in every
session that you decide a company, go to the annual report of that company and as we

discuss have a look at the statements which are as published by a particular company.

(Refer Slide Time: 16:30)



Progierty, plast sl eqipas = 2017 Ansial report - page F-40 aid Fd

Fatifrated wseful life
o6 y

4 b 650 yearn

Now, here | am showing you extracts from Tata motors annual report so, that you will
actually have a feel of how it looks like. So, right now, we are in the section of balance
sheet; within balance sheet, you can have a look at assets. | hope it is visible; though the
font is little small, but this is how actually it is in the annual report of Tata motors. So,
you can see item a is property plant and equipment. This is something which we were
discussing about when we were discussing depreciation. Over all within noncurrent
assets, a list of asset is provided and then the description of each asset is given. So,

property plant and equipment is described.

Now, in the end if you look there is a table which is showing the type of the asset and
estimated useful life. | think this is very interesting because for calculation of
depreciation, we have seen we want to estimate useful life of a particular asset and that
will be the basis for calculation of depreciation. So, here you can see the types, building,
then roads, bridges and culverts. For that the life is reasonably wrong. So, it is 4 to 6
years. Then plant machinery equipment, it is 3 to 30 years. Computers and it related

assets is 3 to 6 years, vehicles 3 to 11 years, furniture fixtures 3 to 21 years.

So, reasonably long range, but for a particular class of assets, they have defined some
estimated useful life Now for a particular asset within that range, they would decide the

useful life.
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Now, next they have given definitions of some of the terms like depreciation, then the
terms in the box have also been defined like accumulated depreciation. So, | hope you
remember, what is depreciation. This is a loss or reduction in the value of asset in a
particular year. Now for that asset, the depreciation for year 1 is say 10000; year 2, 8000;
year 3, 4000; then what we do is we accumulate or collect the depreciation. So, in year 1,
it will be 10, in year 2, it will be 10 plus 8, 18; in year 3, it will be ten 8 and 4, 22.

Like that the total depreciation or accumulated depreciation is calculated and it is to be
disclosed in the balance sheet. After that, there is a item called as depreciation expense.
Depreciation expense refers to the depreciation for that particular year and the last item
given over here is salvage value; salvage value or scrap value. This is at the time of

disposal, what value you have is called as a salvage value ok.
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Now this is a very important. Note: I know it is little difficult to read, but | have given it
here because as it is as what is in the annual report. So, it starts with the assets which are
owned by the company. So, it says owned assets, then the category of assets are given
starting with land, building, then plant and equipment, furniture and fixtures and so on.

Now, the cost as at April 1, 2016 that is the opening balances are given, then additions,
then currency translation differences, then disposal. Now the total of all this will be the
cost as on March thirty first, 2017; that is the closing cost. So, just to give the cost of the
asset; the original cost, there are four items disposal will of course, be reduced, but the
total will be the cost at the end. Now the next is accumulated depreciation as on April
first 2016. So, at the beginning of the year, what is the depreciation than the depreciation
which is added, depreciation which is written off, the depreciation on disposal. Then at

the end, you are got accumulated depreciation as at the end of the year.

So, we considered all the cost, then all the accumulated depreciation cost minus
accumulated depreciation is a net carrying amount. We were discussing about WDV

written down value. It is same as the net carrying account amount has been discussed.
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Now, a few more things; now this is related to intangible assets. Now this is about the
goodwill. One of the important intangible assets is goodwill. Now, what happens is when
company acquires other assets, it may pay more than what amount is a fair value of that
asset. So, suppose you are acquiring assets worth 15 crore, but you are paying 18 crore
let us say. So, you are paying 3 crore more 18 minus 15, 3 crore which you are paid will

be considered as goodwill.

There is another category of goodwill which is known as self generated goodwill, but it
is not disclosed in the balance sheet. What is disclosed in the balance sheet is called as a
purchased goodwill which is classified as intangible asset in the balance sheet. So, here
we are looking at a purchase goodwill. So, first the definition of goodwill is given and
then the value of goodwill as is disclosed in the balance sheet, you can have a look.

Under the assets non-current assets, there is items c called as goodwill ok.
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Now, if you go little ahead, there is a working table which is given in the for the
goodwill. It is similar to that for a tangible asset, but slight different; first balance at the
beginning, then it is called as impairment. That means if asset loses its value, it is called
as impairment. So, some amount is provided as impairment. There is currency translation
differences because though that goodwill is in foreign currency and the balance at the
end. You can just have a look at what is impairment. Now cash generating units to which

goodwill is located are tested for impairment annually.

So, what it means is, you have paid for certain amount as a goodwill assuming that that
particular unit or that particular part of the business would be able to generate cash. If
that business does not have that capacity any longer; that means, the depreciation is no
longer applicable. In such cases, the depreciation is written off or its value is removed

from the balance sheet that process is called as an impairment.
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Now, further we will go to other tangible assets. So, other intangible assets | am sorry.
So, here in the assets after goodwill which you see item like other intangible assets are
given. | think, we are already discussed intangible asset. Intangible assets are those assets
which you cannot touch or feel. Now these assets are also required to be amortized. So,
they are to be depreciated, but here since they are intangible that is called as they are to
be amortized. Now you can see here type of the asset and estimated useful life. So, for
patents, it is 2 to 12 years; for computer software, it is 1 to 8 years, then for dealer
network, it is 20 years and for intellectual property rights, it is 3 to 10 years. So, | hope

you are getting the difference.

For goodwill, there is no particular estimated useful life. It can remain perpetually, only
thing is you test it for impairment. If that particular business or product has lost its value,
then we will write off goodwill. We will call it as an impairment, but for other intangible
assets, we will charge depreciation that is known as amortization. The calculation is

same like for depreciation.
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So, you will need an estimated life. So, that estimated life is given ok. Now there is one
more working table again the font is small, but just you can have a look. It says working
table for other intangible assets. So, just like for tangible assets, it starts with opening
balances additions and so on and then accumulated depreciation is calculated and then

you get the final value.

There is one more exhibit a. These are excerpt from the annual report page 155. Now
here, the final disclosure is given. So, property plant and equipment that is the tangible
assets total and goodwill and other intangible assets total which gives you the total of
total ok. If this is not so, clearly visible I would request you to download the annual
report of Tata motors and see it yourself, | am sure you are also looking at annual report

of your own company.

But, I am just showing you because when actually you see it, you will have the feel of it.
Then some term boxes are given like amortization, expense and total accumulated
amortization. This is just like depreciation; amortization expense refers to amortization
during the year and there is accumulated amortization just like accumulated depreciation.
So, this was the actual extract of the annual report of Tata motors of 2016-2017 ok.
Please have a look at it and | hope your, the concept of depreciation are more clear to

you now. Namaste.



